R PR R I 1Y 2 AR, 41222011

(8) #iFy int/@Lk, bool 7@ b, double i@Hix (3%)

FAT int k;
bool b;
double x;

(b) ""iﬁ%}m—gq‘— A R R - W (3%)
F?: Console.WriteLine("ﬁﬁ“—*ﬂﬁgﬁﬁ“);

(c) Fropa * — [Wiedle > TR H e ’“‘;‘E‘rf[;[/ Nt i@k (3%)
F{: k = int.Parse(Console.ReadLine()); ﬁ9

k = Convert.Tolntl6(Console.ReadLine());
(d) ,ﬁblﬁ[‘b’[ J bool #@gy b EHSEEEST ¢ kB2 BV EREFEHT 0 (3%)
F{: b=(k %2 ==0);
(e) F\.b KiHr > T ‘ﬁ Py ,E‘IJH o I:[JE‘\?‘ (3%)
ﬁ if (b)
{
Console.WriteLine("$§ﬁ“);
}
else
{
Console.WriteLine(WﬁEW");
+
"
string message = 'Wﬁﬁf 1?5?':

Console-WriteLine(message),

(@) FIP- [ A _ﬁf* Y int @ n ') 9y ETdﬁﬁl,&,anﬁﬁ
(assign) 5 Il*'ﬁf o ﬁfJ intA&grm  (3%)
F{ m = ——n

(b) Frfy bool A@lfer - 2B H iE CEp) "f(or) g VAEEHTFIRIFUAR -
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bool #@EP = q fi—i’ulﬁ?]’“ﬁfzg?lﬁrf,ﬁ%@ (3%)
F%“ r=1 || q;

@)E?f doubleﬁ%@?y’jjiﬁfuﬁt@ F“uﬁﬁ iﬁﬁ . double 7@t =
2m V FRER L FriBt(cosine) fift » 1 HrriEn [E“’f (3%)
F{ double y = Math.Cos(2.0 * Math.Pl * t);

(d) firf string W@k state » FJ*|= T SE R (e ‘“‘E{’f,%@;‘/
doubleﬂﬁﬁrmembranePotentlal*&ﬁ““%*—SSEﬁ“jf’ﬁﬁﬁ”’ =
4 EJIJ35¢”F§?%” (3%)

F{: string state = (membranePotential >= -55) ?

EORT  HEE
(6) i@ © # char B[ » 2544 fi b Il back slash)+7 (3%)
Bt char ¢ = "\\";

i

(@ E{’f’[ ﬁlntﬁEhTN E il £ 7 (3%)
FA'“: const int N = 7;

(b) s~ MW= RIS ERER N i int = AR - feiha (3%)
g+ int[,] a = new int[N, N];

(c) E{’—“’ ~ [ B o P rand o FESTEEEE 777 (3%)
f' Random rand = new Random(777);

()45 @ I~ ks gl rand i % - 7 2302 12(4) D B9 B
(3%)

FAT: int i;

int j;

for(i=0; i<N; ++1i)

{
for (J = 0; j < N; ++j)
{

afi, J] = rand.Next() % 11 + 2;

b5

}
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(e) FHET a [ ﬁ\z/]JEfJ,%E’iﬁl i = A Nt Y]] rowSum pusfER K o '&J
rowSumiﬂﬂﬁ%éiﬁf](y%)
F?: for (i = 0; 1 < N; ++i)
{
rowSum[i1] = O;
for (J = 0; J < Nj; ++j))
{
rowSum[1] += a[i1, J];
bs
+

(@) (3%)
int 1stPlace = 1;
B P T 9
Rir-:

int FirstPlace = 1;

(b) (3%) I'J M A=H Bt & = i~
char age = Console.ReadLine().ToCharArray()[O0];
switch (age)

{
case "’p": Console.WriteLine("%f@ﬁﬁ%éﬁ%");
case “/*+": Console.WriteLine("#PEMLIH"™);
default: Console._WriteLine("§=E E*");
}
F{: case k>default%ﬁﬁ#ﬁ%ﬁﬁijbreakﬁﬁiﬁ
Rir-:

char age = Console.ReadLine().ToCharArray()[0];
switch (age)

{
case "’p": Console.WriteLine("%f@ﬁﬁ%éM%");
break;
case “/t": Console WriteLine("& EMF &™) ;
break;
default: Console_WriteLine(" &= E+");
break;
bs
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(c) (3%)
int i;
while( 1 <= 3 )
{
Console._WriteLine( 1/(1-1) );
++1;
3
Fﬁ;: i =1, i/7@(- 1);735%[5%[‘1 0 fu 9t
E[f(f CEPVE PRI )

int 1 = 1;
while (1 <= 3)
{

++1 ;

Console_WriteLine(n /7 (1 - 1));
3

(d) (3%)) ) REZCH FEEh T i TR
for( Int 1=0; 1<3; ++1 )
{

Console._WriteLine(

{0} FHEIR > HURRHEKL", 1+);

« IV CAWINDOW S\system32\cmd_exe

FHEET B R R ERe

STHERT USRS R R

FITER T ) PRt SRR R
ERIFEESHEE - - -

fi e R T 2 A [N T EELE O, 2 Ry

« e CAWINDOWS S\system32\cmd.exe
0 FHEAZE @ P EESHE !

2 EPEREZE ﬁmﬁf’%&ﬁ?]ﬁ :
TR RAEE

E[Jj :
for (int 1 = 0; 1 < 3; ++1)
{
Console._WriteLine(
{0} FEFIR  HURIRHIIELT, 1+1);
}
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(€) (3%) A R s iy ity =,
static void f1(int x)

{
Console . WriteLine(*f1({0}P)”, x);
static void f2(int x)
{
Console . WriteLine(*f2({0}P)”, x);
3
3
B P 2 TR FL - SO R.
Riz-:
static void f1(int x)
{
Console_WriteLine("f1({0}P)", X);
}
static void f2(int x)
{
Console_WriteLine(""f2({0P)", X);
3

5. RN IO (5%)

using System;

namespace MidTerm2011Problem5

{
class Program
{
static void Main(string[] args)
{
int[] a={4, 5, 6 };
int[] b = a;
WhatDoesThisDo(a);

Console_WriteLine("'a[2] = {0}, b[2] = {1}",

a[2], b[2]):
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}
static void WhatDoesThisDo(int[] x)

{

x = new int[4] { 8, 9, 0, 1 };
x[2] = 7;

|
S

KIL

6. BRI I T (10%)
using System;

namespace MidTerm2011Problem6

{
class Program
{
static void Main(string[] args)
{
string pattern = ''survey";
char[] p = pattern.ToCharArray();
string target = ''surgery";

char[] t = target.ToCharArray();
int[,] c = DP(p, t);
int n = t.Length;
int m = p.Length;
int i;
int j;
for (1 = 0; 1 <= m; ++1)
{
for G = 0; J <= n; ++J)
{
Console._Write(c[i, j] + "\t");
}

Console._WriteLine();
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b
ke
static int[,] DP(char[] p, char[] ©)

{

int m = p.Length;
int n = t.Length;
int[,] ¢ = new int[m+l, n+l1];
int 1;
int j
for g = 0; J <= n; ++j)
{
c[o, 31 =0
bs
for (1 = 0; 1 <= m; ++1)
{
c[i, 0] =1
bs
for (i = 1; 1 <= m; ++1)
{
for g = 1; J <= n; ++j)
{
cli, 31 = (pLi-11 == tj-1]) ?
cli -1, j-1]:
1+
Minimum(c[i - 1, 3], c[1, §J - 1],
c[i -1, §j - 1D;
bs
bs
return c;

}

static int Minimum(int x, int y, int z)
{
iIT (X <=y && X <= z) return Xx;
if (y <= X & y <= 2z) return y;
return z;
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o HeHY CAWINDOWS\system32\cmd.exe

Lo
||>|_|x

0 0 0 0 0 0 0 0
1 ] 1 1 1 1 1 1
v 1 ] 1 7 7 7 7
3 7 1 0 1 7 ? 3
4 3 7 1 1 7 3 3
4 4 3 7 7 1 7 3
1§ 4] 4 3 3 7 7 7
SRR TR d
7.
/*

* MidTerm2011Problem7

skj, 4/21/2011
%&#}ﬁiw ¥ ﬁ'[ flipYSemantic Words

;TtlL SRR, Enrg Tﬁ EEFF—l
= AR

1. 7 LEEEOL o, PR RS- S
2. @F%f%%semantic WordspJ]EﬁT[ sl
klsemanticWord
B SBR[ Freg
3. FVsemanticWord, freq
4. jqsemanticWord® freqf#freqf lfﬂgjfﬁ | (PR
5. F?Ll'semantchordbfreq

F}“{?“iﬁ’}%ﬁ% ProcessArticle(?lfﬁ'[, semanticWord, freq)

1. BT semanticWord® fregfvfi3 BrEinSW
—?J E¥IEEL O

2. for ?Pﬁ'lé?r B
{

2.1 ZviiE 1%5‘}']@ Jllword

2.2 for FrEjwordp1pvEd

{
-1 if HiFklstop words, continue
2

2.2
2.2. if ]Eﬁi.l"j\“,‘isemanticWordHl
{
2.2.2.1 }[%‘j?ffﬂ"%l?ﬁﬁ“ semanticWord
2.2.2.2 PEETNSW
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* }

* 2.2.3 IEEEERYFreqi
* b

* ¥

*

FIEFHF]: Robert FrostElfJ;E:lJ‘The Road Not Taken/ & i— F:

* 1 shall be telling this with a sigh
* Somewhere ages and ages hence:

* Two roads diverged In a wood, and I-
* 1 took the one less traveled by,

* And that has made all the difference

*

* TR GRIN PR S
* G R ST -
* ages (2)

* telling (1)

* sigh (1)

* roads (1)

* diverged (1)

* wood (1)

* less (1)

* traveled (1)

* difference (1)

*/

using System;
using System.Diagnostics;

namespace MidTerm2011Problem7

{

class Program

{

static void Main(string[] args)
{
Debug.Assert(Test_1 0K());

string[] semanticWord;
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}

int[] freq;
int 1SW;
string[] line = InputArticle();
ProcessArticle(line, out semanticWord, out freq);
Array.Sort(freq, semanticWord);
Array.Reverse(semanticWord);
Array.Reverse(freq);
Console_WriteLine(

"\n_ [T FipuSemantic wordsk IR ;
for (1SW = O0; 1SW < semanticWord.Length; ++iSW)
{

Console_WriteLine("'{0} ({1p)",

semanticWord[1SW], freq[iSW]);

static bool Test_1 OK(Q)

{

string[] semanticWord;
int[] freq;
string[] line = new string[5]
{1 shall be telling this with a sigh",

""'Somewhere ages and ages hence:",

"Two roads diverged in a wood, and I-"",

"1 took the one less traveled by,",

"And that has made all the difference™ };
ProcessArticle(line, out semanticWord, out freq);
string[] correctSW = {

"ages', "telling", ''sigh', "roads",
"diverged', "wood", "less"™, "traveled",

"difference" };

int[] correctFreq = { 2, 1, 1, 1,

int 1SW;

int 1dx;

bool result = (semanticWord.Length == 9 &&
freg.Length == 9);
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ifT (result)

{
for (iSW =0; 1SW < semanticWord.Length; ++i1SW)
{
1dx = Array.IndexOf(
semanticWord, correctSW[iSW]);
result = result &&
(1dx >= 0 && freq[ 1dx] == correctFreq[1SW]);
bs
bs

return result;

}

static void ProcessArticle(

string[] line, out string[] semanticWord,
out Int[] freq)

const int MAX_N_SW = 100;
// f@r%j/ semantic words3d gy FHisl

string[] sw = new string[MAX_N_SW];
// semantic words

// fylocal ?ﬁ&???i

int[] fr = new Int[MAX_N_SW];
// freqpylocal ?ﬁ%&?i

int 1SW;
for (iSW = 0; iSW < MAX_N_SW; ++iSW)
{
sw[isw]
frisw]

null;
0;

nt nLines = line.Length;
int iL;

string[] word;

int nW;

int iw;

1 o )
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}

int nSwW
for (iL
{

0;
O; 1L < nLines; ++ilL)

word = ProcessLine(line[ilL]);
nW = word.Length;
for (iW = 0; IW < nW; ++i1W)
{
1T (IsAStopWord(word[1W])) continue;
ISW = Array.IndexOf(sw, word[iW]);
it (iSW < 0)
{
ISW = nSW;
sw[iSW] = word[1W];
++nSW;

¥
friSW]++;

}

// E& 2 RIREEPAY S

semanticWord = new string[nSW];
freq = new Int[nSW];
Array.Copy(sw, semanticWord, nSW);
Array.Copy(fr, freq, nSW);

static string[] InputArticle()

{

Console.Write("ﬁﬁ‘.ﬁth ");

int nLines = Int.Parse(Console.ReadLine());

string[] line = new string[nLines];

int iL;

for (iL = 0; iIL < nLines; ++1iL)

{
Console-WriteLine("ﬁﬁ‘EE{O}F?", iL+1);
line[iL] = Console_.ReadLine();

bs

return line;
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}

static string[] ProcessLine(string line)

{

char[] separator =

S

TN, e, e,
T LT GRS R
g AR M S AR
HLOTST, WU, AT, ter,

L ] I+I L L - __w L L

-<- I>I I?I

};
string[] word = line.Split(separator);

// FEFEsE T, fiFSstop words
int iw;
for (iW = 0; 1IW < word.Length; ++i1W)
{

word[1W] = word[1W].ToLower();
b

return word;

}

static bool IsAStopWord(string word)

{

// TERE, [HFHopIstop wordsT®

string[] stopword =

{
v mgr taple’, “about™, 'across”,
"after”,"all","almost","also™,am",
“among',"an",""and", "any", "are",
“as™,"at”,"be", "because", "been",
“but","by","can","cannot", "could",
“dear™,"did","do","does", "either",
nelse™,"ever”,"every","for", from",
"get”,"gets"”, "got","had","has",
“have"."he" . "hence","her"."hers",
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“him™,"his™, "how", “however","i"
CEFL TN, into”, tisT, it
"itst,"just”,"least”,"let”,"lets",
"likely",""made make', "‘makes’'™, "may",
me™,"might", "most" "must" my*,
“neither",no™, "nor", "not", "of",
“off","often™, on","one", "only",
“or',"other","our","own", "rather"
“said”,"say", "says","shalI"," he",

"should", "since","so", " "some", ""somewhere",

"take",""taken",'"takes","than",""that",
"the","their","them", " then", ""there",
“these", "they", "this"," tis", "to",
“too","took™, "twas","two","us"
“"want"',"wants',"was","we"', ""were"
"what","'when","where",""'which™, "whlle
“who", "whom™, "why"", "wi I 1"", "with",
“would","yet", "you", "your"

}:

bool result = (
Array.IndexOf(stopword, word) >= 0 );

return result;
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